Question 1.
Estimated Annual Income (i) = Rs. 60,000
Rate of Capitalisation in the markel (r) = 125% -

. Amount of Capxtalasatlon (C) =%=——=Rg 4, 80 ()00
4 (&)

Question 2.
Normal Rate of Ret{;rn = 10%
Capital Employed = Sundry Asscts — External Liabilities - i
‘ = Rs. 1,50,000 - Rs. 50,000 = Rs. 1,00,000
(i) Estimated lncome = Rs. 8,000
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. Actual Ratc of Return = Estimated Income -,

Capital Employed

8,000
_ 800 -
= To0000 <10 = 9 e .

Therefore, if the estimated earnings are Rs 8000 ‘then it is tHe position of ..
ovg;;apnahsatlon because Actual Rate of Return (8%) < Normal Rate of Return
(1 © : ,
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(ii) Estimated Income = Rs. 12,500

; 12,500
?. k i oie t. ] Ra - - :
("] _ Actua te of Return 100,000
y | Hence, It is the position of undcr-capltahsatxon because Actual Ratc of Return

' (12-5%) > Normal Rate of Return (10%). ‘ |
(iii) Estimated Income = Rs. 10,000 AN b ' i
! : ;s w4

10,000 - :
X = 10%
1,00,000 i

~ Hence, It is the position of optlmum capitalisation because Actual Rate of Rcturn
(10%) = Normal Rate of Return (10%).
Question 3. :
’ Actual Amount of Capitalisation = Rs. 2,00,000
Fa Average Annual Income = Rs. 30,000

Rate of Capitalisation in the market = 20%

. Average Annual Income % 100
% Actual Rate of Return = Amount of Capitalisation

X 100 =12-5%

3 -. Actual Rate of Return =

2,00,000

F (i) Yes, the company is over- -capital
g Rate of Cap:tahsatlon in the market (20%)
2

A (if) Actual Amount of Capitalisation =

-~

f e ‘ _ 30000 460 = 15%
{ ised because Actual Rate of Return (15%) <
- Rs. 2,00,000 5 Seiny

Average Annual Income (i)
Amount for Falr Capxtahsauon = Rate of Capitalisati on in the markct 5]

000 _ ps.150000 | J

- 20%
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